
SAP ABAP table PSHLP_TREX_AFPO_ST {Order Item}

PSHLP_TREX_AFPO_ST

PROJN [NUMC (8)]

KDAUF [CHAR (10)]

AMEIN [UNIT (3)]

MEINS [UNIT (3)]

MATNR [CHAR (18)]

KNTTP [CHAR (1)]

BWTAR [CHAR (10)]

BWTTY [CHAR (1)]

PWERK [CHAR (4)]

LGORT [CHAR (4)]

SERNR [CHAR (8)]

DWERK [CHAR (4)]

DAUAT [CHAR (4)]

VERTO [CHAR (4)]

SOBKZ [CHAR (1)]

CHARG [CHAR (10)]

GSBER [CHAR (4)]

SERNP [CHAR (4)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 PSHLP_TREX_AFPO_ST-MATNR = MARA-MATNR 
0..N

1

MCHA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

CHARG [CHAR (10)]

 PSHLP_TREX_AFPO_ST-CHARG = MCHA-CHARG 
0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 PSHLP_TREX_AFPO_ST-PROJN = PRPS-PSPNR 
0..N

{0,1}

SNUM

MANDT [CLNT (3)]

SERNR [CHAR (8)]

 PSHLP_TREX_AFPO_ST-SERNR = SNUM-SERNR 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 PSHLP_TREX_AFPO_ST-LGORT = T001L-LGORT 
0..N

{0,1}
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 PSHLP_TREX_AFPO_ST-DWERK = T001W-WERKS 

0..N

1
 PSHLP_TREX_AFPO_ST-PWERK = T001W-WERKS 0..N

{0,1}

T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]
 PSHLP_TREX_AFPO_ST-DAUAT = T003O-AUART 0..N

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 PSHLP_TREX_AFPO_ST-AMEIN = T006-MSEHI 0..N
{0,1}  PSHLP_TREX_AFPO_ST-MEINS = T006-MSEHI 

0..N1

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 PSHLP_TREX_AFPO_ST-SOBKZ = T148-SOBKZ 

0..N

{0,1}

T149C

MANDT [CLNT (3)]

BWTTY [CHAR (1)]

 PSHLP_TREX_AFPO_ST-BWTTY = T149C-BWTTY 

0..N

{0,1}

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 PSHLP_TREX_AFPO_ST-BWTAR = T149D-BWTAR 

0..N

{0,1}

T163K

MANDT [CLNT (3)]

KNTTP [CHAR (1)]

 PSHLP_TREX_AFPO_ST-KNTTP = T163K-KNTTP 

0..N

1

T377P

MANDT [CLNT (3)]

SERAIL [CHAR (4)]

 PSHLP_TREX_AFPO_ST-SERNP = T377P-SERAIL 

0..N

0..N

T437V

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VERTL [CHAR (4)]

 PSHLP_TREX_AFPO_ST-VERTO = T437V-VERTL 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 PSHLP_TREX_AFPO_ST-GSBER = TGSB-GSBER 

0..N

{0,1}

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 PSHLP_TREX_AFPO_ST-KDAUF = VBUK-VBELN 

0..N

0..N


